Chapter name: Addition

1. Do addition.
Part A
a. 35 d. 63 g 20 j. 26
+22 +26 +79 +3
b. 14 e. 33 h. 5 k. 83
+25 +55 +94 +2
c. 42 f. 51 i 3 . 90
+27 +23 +73 +7
Part B
a. 31+16 d. 25+72 g. 70+4 j.  2+67
b. 22+25 e. 10+50 h. 9145 k. 5+44
c. b53+11 f. 60+9 i. 4+83 I. 7+40
Part C
a. 55 d. 65 g 28 j. 26
+29 +26 +79 +3
b. 15 e. 38 h. 8 k. 83
+25 +55 +94 +2
c. 45 f. 51 i 6 . 98

+27 +29 +77 +7
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41+19
55+25
53+37

135
+222

314
+525

242
+427

311+116
2124235
523+131
265+732

29+72
18+58
61+9

263
+326

333

+555

511

+243
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Part D

g. 76+4
h. 92+8
i. 7+83
Part E
g. 420
+579
h. 5
+194
1. 13
+773
Part F
100+500
160+9
670+4
49145

J.  2+67

k. 5+44

I. 5+45

j. 126

+ 3

k. 813

+ 2

I. 900

+ 67
14+683
2+697
5+444
17+14



2.

a.

b.

Solve the following word problems.

Ratna has 25 storybooks and 53 other books in her library. How many total
books does Ratna have?

Anaba has 14 art books and 28 comic books in her house. How many total
books does Anaba have?

Akas kept 35 catfishes and 47 tilapias in his tank. How many total fish did
he keep in the tank?

Lima bought fish for 38 taka and vegetables for 45 taka from bazar. How
much did he spend altogether?

In a school, there are 29 girls and 45 boys in class two. How many students
are there in class two in total?

Sumon bought a book of 48 taka and colour pens of 36 taka. How much
taka did he spend?

In a feast Ritu eats 4 barflies and 3 laddoos. How many sweats does she eat
in all?

Natasha has 12 toys, Seena brings 9 toys of her own to play with Natasha.
How many toys do they have to play with now?

Tanvir has 21 marbles. Rana gives him 9 more. How many marbles does he
have now?

Lata has 18 flowers. Poppy gives her 7 more. How many flowers does she
have now?

Shathi has 36 birds. Her brother gave her 9 more. Now, How many birds
does she have altogether?

16 players of the National Cricket team of Sri Lanka came to Play in
Bangladesh. There are 16 players in the Bangladesh team also. How many
Players are there in two teams altogether?

Linda has 34 candies and Koli also has 28 candies. How many candies do
they have altogether?

Moni collected 15 feathers, then she found 5 more feathers. How many
feathers she has altogether?

In a school, there are 20 benches in class two orange and 19 benches in class
two Apricot. How many benches are there in class two in total?

Raju has 53 beans and Mina has 26 beans. How many beans are there in
total?

Reza has 21 sheets of paper and his sister gave him 34 sheets of paper. How
many sheets of papers does he have in total?

In a cricket match Tamim scored 54 and Sadman scored 28. How many runs
did they score altogether in that cricket match?

In a garden, there are 26 guava trees and 45 mango trees. How many trees
are there altogether?

In a village there live 57 females and 58 males. How many peoples are there
in total?



1.

Chapter name: Subtraction

Do subtractions.

a. 55
-24

b. 74
-24

c. 78
-12

-44

91
-22

33
-15

67
-38

83
-9

Part A

e. 59
-20

-30
-15

-20

Part B

53
-24

75
-28

56
-29

65
-17



78-67
56-22
48-34
39-26
28-12
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12-67
56-28
43-34
35-26
23-16

® 00T

a. 9558
-204

b. 754
-234

c. 798
-112

d. 679
-404

Part C

54-23
67-45
46-35
55-23
95-5
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Part D

54-29
61-45
42-35
51-23
90-5
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Part E

e. 599
-200

f. 797
-590

g. 555
-105

h. 500
-200

© =53 -F

© =23 -F

K.

36-4
74-2

. 28-6

49-7
68-3

30-4
70-2

. 22-6

46-7
61-3

585

- 85

859



2.

Solve the following word problems.

Babu has 65 pens. He gives 16 pens to Toma. Now, how many pens left with
Babu?

Sohag has 75 balls. He gives 53 balls to Mahi. Now, how many balls left with
Sohag?

There are 48 students in a classroom and 26 of them are boys. How many girls
students are there in that classroom?

In the classroom, there are 61 students. Among them 37 are present. How many
students are absent in that class?

The sum of the age of a mother and her daughter is 70. The daughter is 28 years
old. How old is the mother?

The sum of the age of a father and his son is 60. The son is 22 years old. How
old is the father?

The sum of the age of a father and his son is 50. The daughter is 14 years old.
How old is the father?

The Sum of the age of a mother and her daughter is 62. The daughter is 19
years old. How old is the mother?

The Sum of the age of a father and his son is 73. The son is 18 years old. How
old is the father?

Rajib had 95 taka before she went to the supermarket. He spends taka 80 for his
shopping. How much taka remains with him?

Aril had 66 stamps. He gave 23 to his friend. How many stamps does she have
now?

A flower seller had 96 flowers. He sold 43 flowers. How many flowers does
she have now?

There are 56 birds are sitting on a tree. After a few miniatures, 24 birds fly
away. How many birds are left on the tree?

Kamal bought 15 eggs, out of which 3 fell down and broken. How many eggs
are left with Kamal?

The number of Population of Sadupur village is 99. The number of men is 46.
What is the number of women?

Luna has tk 50 and Suma has tk.30.How many more taka does luna has?

Mr. Ajoy went to Bazar with TK 50. After sopping, he had Tk9 left with him.
How much money did he spent?

An author printed 100 books, but printing error was found in 54 books and
cannot sell. How many books can he sell?

In a school, there are 74 Students. The number of girl students is 56. Find rrout
the number of boy students?

Linda has 34 candies and Kaoli also has 28 candies. How many more candies
does Linda have?

Times table 1 to 10.
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